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Twentieth International Mathematics Contest (Taiwan)
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— v ERI(FILL0 A > £ 250 4)

1.3% 6-43*32412=02. a8 5 a ~ B Bla*+ = - (A)3 (B4 (O)5 (D)6
<fE{7>

B 380 2535 -4-3%-3-2%+12=0

—3%(2°-4)-3(2%-4)=0

—(2%-4)(3*-3)=0

U254 & 3R3sx=2 & x=1]

S.a=2 B=l—>qa*+B%=5:F Co

2. If k=97-10x95+12x9°-25x94-21x93+31x9?-35x9+1200, then the remainder when £ is divided
by 11 is .(A)10 (B)-10 (O)12 (D)-12

<fZ{7>

£ x=9 » B k=fx)=x"-10x%+12x>-25x*-21x°+3 1x>-35x+1200
—fl0)'%F 1 (ct2) > ARl f-2)

1 -10 +12 -25 -21 +31  -35 +1200 | -2

-2 424 72 +194 -346 +630 -1190
1 -12 +36 -97 +173 -315 +595|+10

f-2)=10 > i§ A -

3.%ka-~b-c i F ¥ F = x S¥ fix)=ax>+bxt+c A5 #8(0, -1)F ¥ x fhApEr o T 7

TR R R ®a<0 @b>0 Oc=-1 @b**4ac=0 Oa+b+c<0
(A)0-0-0B)0-2-0(C)02-0-@D)D 0 ®
<fE$7>

£ A0)=-1—>c=-1 > b*-4ac=0—b*+4a=0
B0, -1)>a<0 b % F 7 i
A)<0—a+b+c=<0
EAORNORNORY TR AN

[y

4 ESAwFE > FREE L F e Rkl ER 3B FMAET ! W
90000 & » 3K 2] pEF § A& & M 2 (A)45000 (B)30000 (C)11250 (D)10000

<fE$7>
90000+32=10000
E Do
S5.x~y i &L 3x+4y=1> E'J\/(x—1)2+(y—2)21 B ER (A1 (B2 (C)3 (D4
<jE$7>
/(x—1)2+(y—2)2—>P(x, WFI(1, 2)2 FEdE

PPt L 3xthy=1 0 bo) BEAE S ‘33;_‘:22"!?:2 ' B o
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6. 3% B & L: et3y+10=0 » 2 f] C: x> h?=4 & 2 B> PI B & kehl et S B2
(Al B)2 (C)3 (D)4
<fE$7>

Jk2_>2m 1L [Ty > k2<16—>-4<k<4 > k=1 23

i Co

7.3k n & Bl Pl (8 125" BN A 5 10 e Pl < n @ g % 02
(A)100 (B)101 (C)102 (D)103  (logl.25=0.0969)

<fai7>

10°<1.25"<10'0 » = 10°%99=1.25

—10°<(10%99y<10'° » 9<0.09697<10

—92.8<n<103.1 > n=103 » ¥ D o

8. F R Fle5g » 485 T]- ;%@r‘gim WE A > 2 F - 10~ B E - 20 & o
SRS

AR G AEEE 60 % 0 10 A AR AR B LR T o Rl T
R sRE 2 242 (A)13 (B)12 (C)11 (D)10

<fz47>

REFF xy WEY v ¥

D 10x+20y<60Dx-+2y<6

Ox+y=2

x=0y=0 x>~ yeZ
% =0 x=2~6>73 5F&
%=l x=1~4>73 45
B =2 x=0~2>73 34
$=3>x=0 -3 1
£ 13460 F A

9.4 - BisF > LT 50 24 0T BB I iER 200 2
AER RS x*&ﬁ?évﬁiﬁ % 2 2 (A)229 (B)219 (C)209
(D)199 (B 11T w £ »)

<ﬁ';v}fr>

S=rf — 200=500
.04 (Ff)=4x—=T 5 229

E A

200 ¢cm
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10. & x 5 =& F #i > R cosx - Sin(erg)ﬁjﬁ"“’ Bi___c (A)V2(®B) i (©) % (D) %

<fE$7>
cosx (sinx cos30°+ cosx sin30°)

V3. 1 V3. 1
=cox (7 sinx+ > cosx)=7 sinx cox+ > cos’x

V3. 1 cos2x+l V3 . 1 1
=— sIn2x+=-x =— SIN2x+-XCcoS2x+-
4 272 4 4 4

1,V3 . 1 11, . m Lom 1 m o1
== (—sin2x+ - cos2x)+ - = = (sin2xcos - +cos2xsin =)+ -== sin(2x+ -)+-
2% 2 2 4 2 6 6 4 2 6 4

1 13
G E A B ex1 =23 Do
ﬂﬁ»*gz tr= &

11, 89 4 STk 36 ko BEAES F B Th o 5 HBr it o Bl6 AR
. . 3 3 2
eI L R7(A); B); (O D) 3
<izti>

BIRABR=F §HBP|TRr N TR L 4 TR 3G R ITE AP
8! 7!
513! 413!

S APz kx="=2=2, @ Bo

12.% 71T B35 W47 PFHR - P2 R LEA?
(A) 50 (B) 100 ©) 50 (D) 50

30
28 56 28 28
12 10 24 20 12 10 12
5 5
[ ]

10 20 30 40 50 60 10 20 30 40 50 60 20 30 40 50 60 70 10 20 30 40 50 60 70

<fE$7>

FORARRE Y o AR A AR L TR S R AR
>FEEF 50 ~ 50 ~ 50 ~ 60

FABTHAN ZEELEL ED-

13. A total of 9 numbers from 1 to 9, any three different numbers are taken as a group, how
many numbers are there in which the sum is odd? (A)30 (B)40 (C)50 (D)60

<jE$7>

1~9 % %3 S B#y 45

Z B2 e i F fcehliiv

Q= #% 5+ G=1048 > @ B4 #cfrs B C1xG=30 f&

£ 4 10+30=40 &

“iE B o
. 1 1 1 1 35 45 55 65
Bl et —— . = ° (A) = — — —
14. 5 37:1x2x3 2x3x4  3x4x5 10x11x12 (A) 264 (B) 264 © 264 (D) 264
<jZ{7>
1,1 1 1,1 1 1 1 1 1.1 1 1 65 65
Bi=—(—-—)t=(—-— )t += - = =X(=-— )= = X—=—
" 2(1x2 2x3) 2(2x3 3x4) """ 2(10x11 11x12) 2 (2 132) 2 132 264
#D-
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15. 4r & B 77 » 2AABC ¥ » ZBAC th& T 4 RAD R ¥ BC 4

3 D> ¢ 5vBD=3 > CD=6 > ® AD=AB > R cos ZBAD 2_ & %
3 1 1 3

@A) ;B) 5 ©) 5D 3
<fE{7> B D C
""AD% £ BAC 2. & T & R
S E2=20-2_ 1, rB=AD=k » AC=2k

AC DC 6 2

OAABD ¥ > cos ZBAD=

P+k2-9
2hk
KP+ai2-36
@ONACD ¢ s cos 2 CAD= YEY:
L KPHAR36 KPR

= — k=18

t2k2k 2kk
36-9 3 o=
COSZBAD:?:Z ’ 353A°

16. § 0<x<3mp+ > E M xty+1=0 & Jdcy=tanx DHA) % 5 2 B 2L 27 (A)2(B)3 (O)4
(D)5

<fz7>

dFT i £ 3 BB E B

0 T 2n: 3n

y
17. + B % y=asinkx B355— 384 » >0 P 5 2 (a,
5 5 5 5
k- (A2 DB DO D)D) L D) .
<ﬁ';v}fr>
T
kx 0 - T 3_n 21
2 2
0 K n 3n 21
* % |k | ok | &
y 0 o 0 -0, 0
= ] 2—7[_4—7[ :E s 5 o
o=-2 T k o E A

18. & % ARl 20 [ PR - Bh ¢ o Bd 55 K s S 200 2L 3 A IES
3 1578 9100 22 s FREGR BEchT g B EF ] FS222(A) 43 (B) 5V3
(€) 2V3 (D) 10v3

2
<jE$7>

% & 60 B > FEH= \/2002+1002-2-2oo~100§ = 100V3
100v3+20=5v3 » ¥ B ©

& A1 £ %)
Taiwan Preliminary (Grade 11)



19. NABC 3 E Somehil = 435> PEEA = AN 305 A

REE BPB=4> PC=3 B| cos LABP= o(w I
T #eBEiS ¥ = 0 V2=1.414 » V3=1.732) (A)0.72 (B)0.82
(€)0.92 (D)10.2

<f#+47>

""PB=4 » PC=3 » BC=5
SJUAPBC G E Az &7
.. ZBPC=90"

cos £ ABP= cos(60°- ~ PBC)

= c0s60°cos £ PBC+sin60°sin £ PBC
1 4 +x/§ 3_4+1.732x3

2%5 7 2 %5 10

=0.9196=0.92 > £ C »

20. % x€R ¥ y= \/(x-3)2+ J(x+5)2 By 2 B A - (A2 (B)8 (C)3 (D)5
<fzir>
XER

y=J (x-3>2+J (e+5) <=3+t
Sy 2o d ) B=3-(-5)=8  E B o

21. The figure on the right is composed of 6 semicircle arcs (*
[Fl7%) and 6 i arcs(?®). If the diameter is 3, what is the
area of the gray part in square units?

(A)97 (B)27 (O30 (D)2«

<fE$7>

MR E AT VA AT

i 7}%=3><§><6=27 ' iE B

22. T & n FE R nl=ax(n-1)x(n-2)x(n-3)x:--- x3x2x1 > Bi4e: 41=4x3x2x1 » & x!=6!x7! » B
x=?
(A)13 (B)9 (C)10 (D)42

<fE$7>

x!=TIx6x5x4x3x2x1=T1x8x9x10=10! » B x=10

#E Co

2 2? Log M E & L 3A

23. #icr) 2~ 2252275227 v L 30 % A3 € 3 100019907 (23=2x2x2=8)
(A)4 (B)5 (C)101 (D)1001
<jZ{7>
©) 10001000:(103)1000
© ai=2

a;=2°=2x2=4

a=22°=2=16

as=2=216=210x26=1024x64=65536

a5:2a4:265536:(210)6553X26:10246553><26>(103)6553X64>(]03)]000
% 53 E Be

& A1 £ %)
Taiwan Preliminary (Grade 11)



24. Refer to the diagram, the area of quadrilateral ABCD is 120 square

units, ED=2AE, BF=2FC. G and H are midpoints of BE and DF,

respectively. What is the area of the shaded quadrilateal EGFH?
(A)30 (B)35 (C)40 (D)60
<fZ$7>
Ow ¥25 EBFD=2(xty)
= 95 ABCD=3(x+y)
—w i$3) EBFD=2xw i# 2} ABCD=-x120-80

@u #45 EGFH=a+b

v i§ ) EBFD=2(a+b)
ST LT EGFH:%xv; e EBFD:%X80:40
#Co

25404 £ 0 o o EdR R - TR ER ] 0 FRA- A ] Bl el
Pooom 20 B¥c2 e s (A)5710 (B)5720 (C)5730
(D)5740
<fz4r>
@ar=7=7+8x(12-1)=b;
as=T+12x2=T+24=T+8x3=7+8x(2%-1)=b,
a6=T+12x2+20x2=7+8x(3+5)=7+8%(32-1)=b3
as=7+12x2+20x2+28x2=T+8x(3+5+7)=7+8x(4%-1)=ba4
20-b10-T+8x(10%-1)
> artastast....Fan=bitbot..... . +b10=7x10+8x(17+2%+3%+...+10%)-8x10

-)70+8X10X161X21-80=3080-10=3070

@az=19=c;
as=19+12+20=19+32=19+16x2=c;
a7=19+124+20+20+28=19+80=19+16x5=19+16%(2+3)=c3
a9=19+12+20+20+28+28+36=19+16x(2+3+4)=c4
an=19+16x(2+3+4+5)=cs

a1=19+16%(243+4+5+6)=ce=19+16x222 (£ k=6)
—19+8(K?+k-2)=8Kk+8k+3=8x6+8x6+3

 d19=co=8X97+8x0+3
aztastart....Faj=citcrtest...... +c9
=8(1742243%4+.... 4+9%)+8(1+2+3+...49)+3x9

=8><9X1ZX19+8X45+27=2280+360+27=2667

® ait(artastast.....tax)t+ (astastart....+a9)=7+3070+2667=5740 > i D -

& A1 £ %)
Taiwan Preliminary (Grade 11)
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© (¥*DE//AC » % BC** E 2t

Bl ANADP=/\PCE

—/\ABE=w= i§3} ABCD

@ BESY B0 @D T h Tk

1+sin2x

2. If 0<x< % , the maximum value and the minimum value of f{x)= are m, n,

sinx-+cosx
respectively. Find the value of m and n.
<fZ$7>

2
) . 2-1
£ sinx+cosx=t—>sinxcosx =

'.'OSxS%

) f(x) - sinv+cosx ¢

=sinx+cosx= 2sin(x+£) )

I+sin2x 1+12—1_

g 7 V2
< - < +— £—>7<s1n(x+ )<1~>

S Sx)= \/_ sm(x+ )2 Max=\2 > Min=1

~13

& A1 £ %)
Taiwan Preliminary (Grade 11)



